

Multiply by 10^{-1} (A)

Find each product.

$$23 \times 10^{-1} =$$

$$33 \times 10^{-1} =$$

$$89 \times 10^{-1} =$$

$$30 \times 10^{-1} =$$

$$36 \times 10^{-1} =$$

$$62 \times 10^{-1} =$$

$$63 \times 10^{-1} =$$

$$2 \times 10^{-1} =$$

$$56 \times 10^{-1} =$$

$$25 \times 10^{-1} =$$

$$59 \times 10^{-1} =$$

$$31 \times 10^{-1} =$$

$$57 \times 10^{-1} =$$

$$85 \times 10^{-1} =$$

$$22 \times 10^{-1} =$$

$$93 \times 10^{-1} =$$

$$51 \times 10^{-1} =$$

$$22 \times 10^{-1} =$$

$$49 \times 10^{-1} =$$

$$85 \times 10^{-1} =$$